FULTY >+ 3F4& TRA0EE - FHR - BEL

NO. 1 NO.2 NO.3
B B =3
I (x+5)(x-7) I (x=3)(x-4) I @=8)(x+7)
2| (@-4)7* 2| @+7)7? 2| (x-9y
3| @+ N(x-7) 3| (x+5)(x-5) 3| @x+4)(x-4)
ESE @i ESps @ R 5 0 i
bl 22 +5x+6 4| 22 -3x-28 bl xZ+x—20
5| 22 +10x+25 5| x%2-8x+16 5| 22 +12x+36
6| 22-81 6| 22-36 6| 2264
FHBNE FEHBRDE FEHBRNE
71 J5 x/3 71 J3 xJ/2 T J7 xJ3
8 ﬁ—ﬁ 8 \/ﬁ—ﬁ 8 @—ﬁ
9(5/3-2/3 913/5 +2./5 9|2/J7 -7J7
10| /45 + /20 10| /& — /50 10| J12 + .27
(/3 -1)? | (J3 +2)? (/5 -2)
12| (J5 +3)(J5 - /3) 12| (J7 +2(J7 -2) 12| (JIT +5)(J11 - /5)
13| (2 +3)(J2 - 1) 13| (/& -3)(J/5 -6) 13| (J7 +2)(J7 -3)
ZIRAERN ZIRFRER ZIRHER
14| 22 —5x=0 4| 22 +7x=0 4| 2 -3x=0
15| 22 —10x+21 =0 15| 22 +8x+12=0 15| 2 —72+12=0
16| 22 +22—15=0 16| x2—3x—10=0 16| 22 +x-56=0
17| 22 +12x+36=0 17| 22 —4x+4=0 17| 22+ 14x+49=0
18| x2-25=0 18| 22 -49=0 18| 2 -1=0
kS (EN Bk QN ik
yldx D 2FIZEHIL. yliZxd2FIZEHIL, ylidxd 2 FIZEMHIL,
9z=2 D&& y=12 Th| |19r==2 0&x y=20 TH| |9x=2 D&& y=-8 TH
%, %, %,
yiZax d2FIZHHIL, yiZaxd2FIZHHIL, yidax D2 FIZEHHIL.
0/x=-3 OD&x y=18 THh| |20|z=3 D& & y==27 TH| |0|z=-3 D&= y=36 TH
%, %, %,
yldxd2FIZHHIL, yidaxd2FIZHHIL, yidaxd2FIZEHIL,
2llxg=4 DL & y=-32 Th| |2l|lz=— DL E y=16 TH| |2l|z=5 DL = y=50 TdH
%, %, %,




FULTY >+ 3F4& TRA0EE - FHR - BEL

NO.4 NO.5 NO.6
EH M B
I x+3)x-8) '] (x=5)(x—4) Il x=6)x+2)
2| (x-5)? 2| (x+6)? 2| (x=7)7?
3| @x+dDx-4) 3| @x+8)x-8) 3| @+3)x-3)
ESE @i ESE @ R 5 0 i
bl 2 +7c+12 41 22 —x-30 bl 2 +2x-15
5| 22 +18x+81 5|2 -6x+9 5| 2% +16x+64
6| 22-25 6| 22—49 6| 221
FHBNE FEHBRDE FEHBRNE
70 J7 x /2 7| J3 xJ5 7| JI11 x /3
8| J15 « /5 8| J21 =3 8| J35 +./5
9(5/2-3,/2 914/3 +2./3 9|5/5 -8/5
10| /32 +/8 10| /63 - ./28 10| /75 +./12
I (/5 -J2) ] (/2 +3)? I (J7 -2
12| (J7 +J3)(J7 - 3) 12 (V& +2)(J/5 -2) 12| (VI3 +/3)(J/13 - 3)
13| (/3 +5)(J3 -2) 13| (V7 -9)(J7 -5) 13| (V2 +2)(J2 - 1)
ZIRARER ZIRHER ZIRHER
14| 22 —8x=0 14| 22 +4x=0 14| 2 —62=0
15| 22 —11x+18=0 15| 22 +9x+20=0 15| 2 —10x+24=0
16| 22 +22—48=0 16| 22 —32x—18=0 16| 22 +x-42=0
17| 22 +10x+25=0 17| 22 -8x+16=0 17| 22 +18x+81=0
18| 2-9=0 18| 22 -25=0 18| 2 -36=0
kSN EiE QN ik
yldx D 2FIZELHIL. yliZxd 2 FIZEHIL, ylidxd 2 FIZEMHIL,
9lx=2 L& y=20 Th| [Nz==2 DL & y=12 T| |9N2=2 DL & y=—4 Th
%, H5, %,
yiZax d2FIZHHIL, yiZxd2FIZHHIL, yidax D2 FIZEHIL.
0(x=-=3 O&x y=27 Th| |0/xz=3 D& & y=-36 T| |0|z==3 DL Z y=45 T
5, Hb, H b,
yldxd2FIZHHIL, yidaxd2FIZHHIL, yidaxd2FIZEHIL,
2llxg=4 DL x y=—48 T| 2llz=—6 D& = y=12 T| |2l|lz=5 D& E y=100 T
H B, H b, H b,




